BK S:t Erik
Fredagsgodis 2019-02-22

Partavling, 56 bord, 111 par. Antal brickor: 21. Medel: 1134.2. Frirond (*) ger egen procent.

Plac Par
1 73
2 145
3 105
4 128
5 150
6 45
7 62
8 25
9 126
10 92
11 24
12 69
13 12
14 14
14 144
16 3
16 101
18 83
19 89
20 63
21 85
22 43
23 53
24 123
25 88
26 23
27 13
27 132
29 106
30 108
31 151
32 125
33 142
34 22
35 49
35 61
37 148
38 129
39 30
40 91
41 48
41 70
43 111
44 64
45 21
46 134
47 55
48 4
49 51
50 113
51 9
52 82
53 8
53 102
55 153
56 1
57 50
58 121
59 46
60 68
61 147
62 81
63 127
64 56
65 2
66 104
67 47
68 7
69 143
70 32
70 112
72 6
73 27
74 130
75 74
75 84
77 44
78 26
79 52
80 28
81 87
82 65
83 141
84 131
85 107

Poang

1477.0
1449.0
1422.0
1398.0
1395.3
1375.0
1374.0
1358.0
1357.0
1353.0
1350.0
1348.0
1345.0
1329.0
1329.0
1320.0
1320.0
1309.0
1302.0
1300.0
1298.0
1293.0
1291.0
1283.0
1282.0
1274.0
1273.0
1273.0
1265.0
1261.0
1250.7
1243.0
1238.0
1236.0
1227.0
1227.0
1222.7
1222.0
1212.0
1208.0
1206.0
1206.0
1202.0
1198.0
1196.0
1189.0
1188.0
1180.0
1178.0
1177.0
1176.0
1173.0
1169.0
1169.0
1166.7
1147.0
1146.0
1142.0
1136.0
1134.0
1132.0
1131.0
1124.0
1122.0
1119.0
1118.0
1117.0
1113.0
1109.0
1107.0
1107.0
1104.0
1077.0
1070.0
1065.0
1065.0
1059.0
1044.0
1037.0
1014.0
1009.0
998.0
996.0
994.0
993.0

%

65.12
63.89
62.70
61.64
61.52
60.63
60.58
59.88
59.83
59.66
59.52
59.44
59.30
58.60
58.60
58.20
58.20
57.72
57.41
57.32
57.23
57.01
56.92
56.57
56.53
56.17
56.13
56.13
55.78
55.60
55.14
54.81
54.59
54.50
54.10
54.10
53.91
53.88
53.44
53.26
53.17
53.17
53.00
52.82
52.73
52.43
52.38
52.03
51.94
51.90
51.85
51.72
51.54
51.54
51.44
50.57
50.53
50.35
50.09
50.00
49.91
49.87
49.56
49.47
49.34
49.29
49.25
49.07
48.90
48.81
48.81
48.68
47.49
47.18
46.96
46.96
46.69
46.03
45.72
44.71
44.49
44.00
43.92
43.83
43.78

Namn

Per Hallman - Tina Hallman

Tom Slettengren - Martina Thornton
Jon Heyman - Mac Gotthard

Barbro Wiberg - Arija Stromberg

Peter Kjellman - Cecilia von Bahr

Ann Léfberg - Karin Ekhammar

Anita Béckstrom - Bitte Eskilson

Bibi Sandberg - Ingrid Vizler

Bjorn Mintzing - Hans Rosenqvist
Bengt Kulling - Margot Kulling

Leif Anderberg - Ami Lindkvist

Birgitta Dahlén - Jan Olof Dahlén
Benkt Lundgren - Per-Olof Waessman
Svante Astermo - Anne Astermo
Christina Erikson - Gunilla Hellberg

Leif Widman - Gunilla Burenius
Margareta Ekelund - Elisabeth Bohman
Herbert v. Buxhoeveden - Svenn Krogstadholm
Eva Wirfeldt - Jan Olsson

Gunnar Kirschon - Daniel Moschewitz
Gerhard Gammer - Magnus Hempel
Marianne Schwarz - Ruth Kirschon
Ingrid Frey - Karin Axnas Stigell

Gunilla Olofsson - Anita Koch
Madeleine Kleberg - Louise Dinkelspiel
Krister Alpmar - Maj-Britt Alpmar

Gun Andersson - Christina Persson
Yvonne Netterberg - Yvonne Matsson
Birgitta Wejnarth - Gudrun Stenfors
Gunvor Westerberg - Peter Lundin
Lars Fréjd - Christer Wretborn

Goran Parner - Lennart Flyrén
Catarina Lindgvist - Elisabeth Wik
Harriet Ahnve - Goéran Helmer

Roland Karlin - Gunnar Karlin

Sylvia Herrlin - Bertil Torbrand

Linda Aspelin - Peter Aspelin

Birgitta EKI6f - Jannike Jevring

Kjell Henriksson - Carita von Sydow
Eva Kulling - Karl Gustav Kulling

Bernt Ericsson - Marie Friedman
Anne-Outram Mott - Malin Philipson
Birgitta Lagerkranser - Monica Eriksson
Ulla Winblad - Gunnel Barkeby

Kalle Fyhr - Asel Floderus

Staffan Bjérkman - Marianne Bjorkman
Lena Treffner - Catherine Steyskal
Christer Larsson - Torbjorn Holking
Lotta Wiberg - Annika Landegren

Ingrid Johansson - Lena Stenborg
Marianne Hansson - Urban Hansson
Elisabet Mohlin - Lars Mohlin

Lena Roedenbeck - Marie-Louise Hoeg
Birgitta Alenius - Lena Melin

Marianne Lundberg - Berit Horberg
Per-Olov Nyberg - Gudrun Noreby
Gunnel Lindegren - Kerstin Falk

Roger Pettersson - Margret Edstrom
Annika Sjoberg Hok - Christina Kjellberg
Ulla Norén - Staffan Norén

Stefan Bertram - Britt Bjorklund
Christina Palmstierna - Ann-Charlotte Cedervall
Elisabeth Stern - Karin Schi6ld

Alf Udén - Giggi Udén

Jen Ahlberg - Barbro Larshagen

John Byttner - Inger Bjorsell

Eva Hok - Marika Roger

Christian Wiechel - Yvonne Malmsten
Marianne Feledy Werthen - Wiktor Raldow
Michael Lagerkranser - Clas Silfverhielm
Anne Lundén - Eva Manhage

Anders Schelin - Katarina Fahlander
Dennis Ovefors - Kerstin Skogsfors
Anders Wibaeus - Ingegéard Wibaeus
Ralf Treffner - Lena Hjelt

Marianne Sundeman - Elisabeth Ahlstrom
Leif Hojvall - Britta Hojvall

Olle Magnuson - Milly Holmgren

Auli Sarlin Gilljam - Erik Haeger
Gunvor Sjostrom - Disa Nilsson
Margareta Thyr - Elisabeth Cederl6f
Isabel Lundblad - Christina Isaksson
Per Christoffersson - Caisa Wiezell
Gudrun Dahlberg - Birgitta Magnusson Warmark
Johan Wabhlgren - Rose-Marie Wahlgren

MID

61327
55226
65535
21626
37712
31651
41592
63469
61610
40642
57114
56826
65502
55856
52805
40844
53423
62755
53596
60171
59206
46172
61218
49525
42666
92352
18506
44880
49383
29792
32915
42025
47678
48714
61267
53227
26588
48407
89638
54960
55445
20649
91580
48717
33110
59047
56098
58096
17646
62051
84174
61222
59016
40883
64120
61606
65356
55157
93509
14789
82337
60558
55401
45630
27959
57721
55851
88390
36160
25782
57743
64749
93638
62059
56113
59681
61935
42493
63664
87917
54699
66132
55483
82328
52842
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61326
54646
60879
84795
37711
54543
57606
+3800
61604
82114
92360
62894
62386
55848
52804
44153
80093
58879
64886
62273
59207
60168
29757
49510
52768
92351
17885
80357
35850
64187
63360
56978
55661
48713
61268
54663
44357
17649
93568
56603
38247
41709
93549
49513
51853
59055
32285
61848
65157
79828
92708
61221
60880
37544
65499
49646
65463
45627
43937
55439
82317
63918
55400
45631
80852
92815
47434
47804
59046
47732
56244
63898
41393
66389
35952
64005
62061
42315
66570
87918
44936
66133
20400
63393
52488
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86 93 985.0 43.43 Solveig Froberg - Kerstin Bilengren 61933 64610 Lidingd BK - BK S:t Erik
86 94 985.0 43.43 Claes Molund - Sven Sundin 62075 55849 BK S:tErik
88 114 984.0 43.39 Ingrid Holm - Géran Holm 47209 47208 BK S:t Erik
89 133 964.0 4250 Lenavon Bahr - Barbro Lindskog 17624 90603 BK S:t Erik
90 109 963.0 42.46 Niklas Andersson - Evy Andersson 58957 80822 BK S:tErik
91 42 958.0 42.24 Marguerite Beyer - Tom Beyer 40008 58581 BK S:tErik
92 110 953.0 42.02 Berit Helge - Brita Matérn 43441 26290 BK S:tErik
93 67 948.0 41.80 Gunilla Gabrielson - Ingemar Gabrielson 43512 43511 BK S:tErik
94 71 947.0 41.75 Marianne Lins - Gull Grahn 35466 40904 BK S:tErik
95 103 942.0 41.53 Kristina Larsson - Tossa Klevefors 59322 47957 BK S:tErik
96 41 928.0 40.92 Inez Kapborg - Lisbeth Hellstrand 54309 57162 BK S:tErik
97 146 900.0 39.68 Britt-Marie Rydén - Zaida Lundkvist 90761 65509 BK S:tErik
98 31 892.0 39.33 Ann BredemanJonsson - Bjorn Jonsson 57164 54800 BK S:tErik
99 86 889.0 39.20 Anki Rosander - Kicki Edman 43519 61073 BK S:t Erik
100 90 887.0 39.11 Kerstin Dinell - Gunnel Frykman 61176 62067 BK S:tErik
101 54 883.0 38.93 Kerstin Isaksson - Gunilla Jonsson 59850 62596 BK S:tErik
102 882.0 38.89 Kjeld Yde - Klas Ek 57690 57754 BK S:tErik
102 72 882.0 38.89 Louise Edlind Friberg - Madelaine Egnell 55852 61608 BK S:tErik
104 11 862.0 38.01 Katrin Dolk - Britte-Marie Wallgren 44625 63353 BK S:tErik
105 10 857.0 37.79 Ann Jirving - Barbro Jelger 16806 16812 BK S:tErik
106 29 848.0 37.39 Lars Kronvall - Ingrid Lindberg 38733 52973 BK S:tErik
107 122 837.0 36.90 Ann Wermelin - Bennet Wermelin 55457 55458 BK S:t Erik
108 154 798.0 35.19 Gunilla Sjoberg Osterberg - Lars Osterberg 65365 65366 BK S:tErik
109 124 780.0 34.39 Birgitta Munck - Karin Lagerman 83283 57761 BK S:tErik
110 149 772.3 34.05 Lilian Gipe Jonsson - Hans Norinder 65210 65156 BK S:tErik
111 66 772.0 34.04 Ewa Menckel - Ingar Hogberg 41694 57108 BK S:t Erik
1 « EKKN105 2 # 985 3 « E43
Nord v52 Ost v EKD84 Syd vE107632
Ingen ¢ 72 NS ¢ 72 ov ¢ 103
#7654 K93 #108
4 D964 #4872 474 4 KD102 410752 «D9
vE106 vKD87 v10973 v¥5 vK5 vD9
¢+D54 ¢K83 ¢+ DKn86 ¢ E1093 ¢+ KD75 ¢ E984
#E102 &DKn8 #652 #ED84 #E93 +D7642
43 « EKn63 4« KKn86
v Kn943 vKn62 vKn84
+ EKn1096 ¢ K54 ¢ Kn62
K93 #Kn107 &#KKn5
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
49 56 24 V-4 ¢2 200 1070 1.0| 84 83 4y N= &K 620 108.0 0.0|112 113 2NV-4 ¥3 400 108.0 0.0
92 93 3NO-4 +¢6 200 107.0 1.0|114 110 2y N+2 &K 170 106.0 2.0| 67 65 3NV-3 v2 300 104.0 4.0
14 10 3NO-3 ¢3 150 1030 50| 7 5 240-3 v2 150 1040 40| 72 73 2NO-3 ¥4 300 1040 4.0
128 121 4v O-3 43 150 103.0 50| 8 1 34S= +Q 140 93.0 15.0|144 143 3NV - v3 300 104.0 4.0
9 11 3NV-2 «T 100 940 140 23 31 2¢v N+1 &K 140 93.0 150| 8 1 34V-2 ¥3 200 93.0 15.0
24 28 1laV-2 95 100 940 140(| 69 71 2¢v N+1 5 140 930 150 25 30 2NO-2 ¥4 200 93.0 15.0
47 45 3y O-2 43 100 940 140| 8 82 3y N= 4K 140 93.0 15.0| 53 54 3¢ V-2 vA 200 93.0 15.0
53 54 3NO-2 6 100 940 140| 88 81 2¢v N+1 &K 140 93.0 15.0| 55 51 3¢ V-2 v6 200 93.0 15.0
55 51 24V-2 7 100 940 140 92 93 2¢v N+1 &4 140 93.0 150 89 91 3¢ V-2 &T 200 93.0 15.0
88 81 3v0O-2 43 100 94.0 14.0|109 111 2y N+1 #8 140 93.0 15.0| 92 93 3NV-2 «vA 200 93.0 15.0
132 133 24 0-2 43 100 94.0 14.0(127 125 2v N+1 &K 140 93.0 15.0|114 110 4¢ V-2 43 200 93.0 15.0
6 2 3v0O-1 a3 50 740 34.0(144 143 2v N+1 &K 140 93.0 15.0(154 150 4¢ V-2 &8 200 93.0 15.0
12 13 3NO-1 T 50 74.0 34.0|147 145 2y N+1 &K 140 93.0 150 14 10 2v N+2 «Q 170 84.0 24.0
21 27 2NO-1 vJ 50 740 34.0| 48 41 INS+1 44 120 810 270| 6 2 3y N= ¢A 140 73.0 35.0
23 31 INO-1 +6 50 740 340| 94 90 INS+1 ¢Q 120 810 270 12 13 2¢v N+1 8 140 73.0 35.0
48 41 INO-1 9 50 740 340| 25 30 2y N= &K 110 66.0 42.0| 23 31 3y N= 4Q 140 73.0 35.0
50 52 INO-1 +6 50 740 34.0| 46 42 2y N= &K 110 66.0 420 26 32 2v N+1 «Q 140 73.0 35.0
68 61 3NV-1 4A 50 740 340| 55 51 2¢vN= ¢A 110 66.0 420 44 43 3vyN= «Q 140 73.0 35.0
94 90 3NO-1 T 50 740 340| 64 63 2y N= 4K 110 66.0 42.0| 48 41 3y N= ¢A 140 73.0 35.0
104 103 24 V-1 7 50 740 340| 66 62 2y N= &K 110 66.0 42.0| 68 61 2v N+1 «Q 140 73.0 35.0
106 102 24 V-1 v5 50 740 340| 68 61 2v N= &K 110 66.0 420| 86 82 3y N= 49 140 73.0 35.0
129 131 24 V-1 o7 50 740 340| 74 70 2y N= &K 110 66.0 42.0(109 111 2v N+1 «Q 140 73.0 35.0
134 130 2v O-1 43 50 740 34.0|104 103 1v N+1 &K 110 66.0 42.0|148 141 3y N= ¢A 140 73.0 35.0
148 141 3NO-1 +J 50 740 34.0(106 102 2v N= &K 110 66.0 420 9 11 2¢vN= 49 110 62.0 46.0
4 3 INO= ¢ -90 520 56.0|108 101 2vy N= &K 110 66.0 42.0| 24 28 2NV-1 v6 100 56.0 52.0
46 42 INO= +6 -90 52.0 56.0(112 113 2¢v N= &K 110 66.0 420 29 22 3¢+ V-1 &8 100 56.0 52.0
66 62 INO= ¢6 90 520 56.0(128 121 2¢v N= ¢3 110 66.0 420| 64 63 3#V-1 vA 100 56.0 52.0
67 65 INO= ¢6 90 52.0 56.0|146 142 14 S+1 #6 110 66.0 42.0(129 131 3¢ V-1 vA 100 56.0 52.0
74 70 INO= T 90 520 56.0| 14 10 14 O-2 ¢4 100 51.0 57.0|147 145 44 O-1 v4 100 56.0 52.0
84 83 INO= ¢9 90 520 56.0| 50 52 14 O-2 2 100 510 57.0| 21 27 3v N-1 +A -50 50.0 58.0
112 113 INO= T 90 520 56.0| 12 13 2NV-1 vA 50 430 650 46 42 1a V= T -80 48.0 60.0
126 122 INO= ¢J 90 520 56.0( 47 45 14 O-1 vJ 50 43.0 650| 49 56 INO= &5 -90 35.0 73.0
127 125 INO= +6 90 520 56.0| 53 54 14 O-1 2 50 430 650 69 71 INO= 8 -90 350 73.0
89 91 2v O= 43 -110 410 67.0(126 122 24 0O-1 v2 50 430 650 84 83 INO= v4 -90 35.0 73.0
144 143 29y O= 43 -110 410 67.0(134 130 2NQO-1 v6 50 43.0 65.0| 87 85 2¢ V= &T -90 35.0 73.0
7 5 INO+1 6 -120 320 76.0(149 151 24 O-1 5 50 430 650 8 81 INO= v4 -90 350 73.0
25 30 INO+1 6 -120 320 76.0| 49 56 14 O= ¢4 -80 360 720| 94 90 INO= &5 -90 350 73.0
26 32 INO+1 6 -120 320 76.0( 24 28 2¢ O= vJ 90 33.0 75.0|104 103 2¢ V= &5 -90 35.0 73.0
86 82 INO+1 +¢6 -120 32.0 76.0| 26 32 2¢ V= YA -90 33.0 75.0|106 102 INO= ¢2 -90 350 73.0
87 85 2NV= &4 -120 320 76.0| 4 3 3NS-1 &6 -100  19.0 89.0 (126 122 2¢ V= YA -90 35.0 73.0
109 111 INO+1 6 -120 320 760 6 2 2v N-1 +A -100  19.0 89.0 (127 125 24 O= 48 -90 35.0 73.0
124 123 INO+1 +6 -120 320 760 9 11 24S-1 +Q -100 190 89.0(134 130 2#O= ¥8 -90 350 73.0
8 1 2vO+1 &3 -140 210 87.0| 44 43 2v N-1 4T -100  19.0 89.0|146 142 INO= 8 -90 350 73.0
69 71 2v O+1 43 -140 21.0 87.0| 67 65 3v N-1 &K -100 19.0 89.0( 47 45 3¢ V= YA -110 16.0 92.0
107 105 2v O+1 &3 -140 21.0 87.0| 72 73 3v N-1 &K -100 19.0 89.0| 50 52 3¢ O= ¥3 -110  16.0 92.0
146 142 2v O+1 43 -140 210 87.0( 89 91 2NN-1 T -100 19.0 89.0| 74 70 3¢ V= 48 -110 16.0 92.0
29 22 INO+2 +6 -150 9.0 99.0(107 105 3v N-1 +A -100 19.0 89.0 (107 105 3¢ V= vA -110 16.0 92.0
64 63 24 N-3 vK -150 9.0 99.0(124 123 3v N-1 &K -100  19.0 89.0|124 123 3¢ V= v2 -110  16.0 92.0
72 73 2NO+1 #2 -150 9.0 99.0(129 131 3v N-1 &K -100  19.0 89.0 (128 121 2¢ V+1 3 -110 16.0 92.0
108 101 INO+2 +J -150 9.0 99.0|132 133 14 N-1 &2 -100 19.0 89.0(132 133 3¢ V= ¥vA -110 16.0 92.0
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114 110 INO+2 +6 -150 9.0 99.0(148 141 2v N-1 %8 -100 19.0 89.0| 66 62 INO+1 &5 -120 6.0 102.0
147 145 3¢ S-3 ©vA -150 9.0 99.0|154 150 2¢ O+1 &6 -110 6.0 102.0 ({108 101 INO+1 46 -120 6.0 102.0
149 151 INO+2 ¢J -150 9.0 99.0| 21 27 3vy N-2 &K -200 3.0 105.0|149 151 INO+1 +6 -120 6.0 102.0
154 150 2NO+1 T -150 9.0 99.0| 29 22 24 N-2 5 -200 3.0 105.0 7 5 4e V= *T -130 2.0 106.0
44 43 3NV = s A -400 0.0 108.0| 87 85 4vyDN-2 ¥5 -500 0.0 108.0 4 3 INO+2 &5 -150 0.0 108.0
- 153 55.6 - 153 55.6 - 153 55.6
4 & K76 5 463 6 & DKn6
Vast v K82 Nord v EK108 Ost v K43
Alla ¢ 732 NS ¢ Kn652 ov *-
#K1098 &#Kn54 &#E1087653
& Kn102 & D98543 & Kn108 & EK975 & EK2 #1043
v 105 v ED63 vKn v D7652 vKn987 v D652
¢ EK10965 ¢ - + D93 *4 ¢ K63 + D974
&D3 S»E74 &#ED10763 %98 &#Knd42 &KD
s E & D42 49875
v Kn974 v 943 vE10
+ DKn84 + EK1087 ¢ EKn10852
#Kn652 »K2 &9
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
32 31 44 O-1 &5 100 102.0 6.0 25 29 44 O-3 ¢A 150 106.0 2.0 1 6 3NS= v8 400 106.0 2.0
48 42 44 O-1 &5 100 102.0 6.0 73 74 34 O-3 ¢K 150 106.0 2.0|105 104 3NN= ¢7 400 106.0 2.0
69 62 44 O-1 v7 100 102.0 6.0 113 114 44 O-3 ¢K 150 106.0 2.0|153 154 4v V-4 «Q 400 106.0 2.0
70 72 44 O-1 ¢8 100 102.0 6.0| 68 71 2¢ S+1 &J 110 99.0 90| 10 12 3v V-3 &A 300 102.0 6.0
89 82 44 0O-1 ¢4 100 102.0 6.0| 85 84 2¢ S+1 vJ 110 99.0 9.0| 81 86 3vV-2 &6 200 100.0 8.0
107 103 44 O-1 ¢Q 100 102.0 6.0 125 124 3¢ S= vJ 110 99.0 9.0|129 122 34 S+1 ¥8 170 98.0 10.0
130 132 44 O-1 &5 100 102.0 6.0 130 132 3¢ S= vJ 110 99.0 9.0| 30 23 3«N+1 ¥5 130 95.0 13.0
93 94 2¢ V= &T 90 940 140 24 27 44 V-2 ¢A 100 87.0 21.0|145 144 3« N+1 5 130 95.0 13.0
1 6 2¢ V+1l &8 -110  92.0 16.0| 45 44 4s#V-2 vA 100 87.0 21.0 5 4 3&N= vQ 110 77.0 31.0
5 4 3«V-= &5 -140 86.0 220| 65 64 44 O-2 ¢A 100 87.0 21.0 8 11 3« N= &K 110 77.0 31.0
8 11 24 O+1 ¢4 -140 86.0 22.0(110 112 34 O-2 +A 100 87.0 21.0| 25 29 3« N= 3 110 77.0 31.0
51 53 34 0= +¢8 -140 86.0 22.0(128 131 34 O-2 ¢A 100 87.0 210 45 44 34 N= v2 110 77.0 31.0
54 55 34 O= +¢8 -140 86.0 22.0(129 122 34 O-2 ¢A 100 87.0 21.0| 48 42 24 N+1 43 110 77.0 31.0
61 66 34 O= +¢Q -140 86.0 22.0(133 134 2v O-2 +A 100 87.0 210 49 52 2¢ S+1 &A 110 77.0 31.0
7 3 24 0+2 ¢4 -170 70.0 38.0(148 151 44 O-2 ¢A 100 87.0 210 54 55 34 N= v5 110 77.0 31.0
47 43 34 O+1 &5 -170 700 38.0( 22 28 2¢ S= vlJ 90 76.0 320 69 62 2¢ S+1 A 110 77.0 31.0
68 71 34 O+1 &2 -170 700 38.0( 51 53 2¢ S= vJ 90 76.0 320| 70 72 3« N= v2 110 77.0 31.0
73 74 24 O+2 @A -170 70.0 38.0(107 103 2¢ S= &A 90 76.0 320 88 91 34 N= &K 110 77.0 31.0
90 92 24 O+2 &5 -170 70.0 38.0 1 6 26 V-1 &2 50 66.0 420 93 94 34 N= v2 110 77.0 31.0
101 106 34 O+1 #7 -170 70.0 38.0( 13 14 44 O-1 <A 50 66.0 42.0(109 102 3% N= v5 110 77.0 31.0
108 111 24 O+2 ¢4 -170  70.0 38.0| 32 31 34 O-1 +¢A 50 66.0 42.0(127 123 3& N= v5 110 77.0 31.0
109 102 34 O+1 7 -170  70.0 38.0| 50 56 44 O-1 +¢K 50 66.0 42.0(128 131 3& N= v5 110 77.0 31.0
113 114 24 O+2 ¢ -170 70.0 38.0(108 111 34 O-1 A 50 66.0 42.0|141 146 3% N= v5 110 77.0 31.0
125 124 34 O+1 v7 -170  70.0 38.0 (127 123 34 O-1 +¢A 50 66.0 42.0 (147 143 2¢ S+1 «A 110 77.0 31.0
141 146 34 O+1 w7 -170 70.0 38.0(153 154 44 O-1 ¢A 50 66.0 420 90 92 2NO-1 T 100 58.0 50.0
9 2 3aV+2 v4 -200 53.0 55.0 8 11 3¢ S-1 &J -100  52.0 56.0(101 106 2¢v V-1 &A 100 58.0 50.0
41 46 34 O+2 ¢4 -200 53.0 55.0( 49 52 INS-1 &3 -100 520 56.0(130 132 3v V-1 «Q 100 58.0 50.0
45 44 24 O+3 v9 200 53.0 55.0( 61 66 3¢ S-1 & -100 520 56.0( 47 43 24 S= s A 90 54.0 54.0
128 131 34 O+2 v4 -200 53.0 55.0( 67 63 3¢ S-1 & -100  52.0 56.0 7 3 44N-1 v5 -50 37.0 710
148 151 24 O+3 v4 200 53.0 55.0( 70 72 3¢ S-1 & -100  52.0 56.0 9 2 34S-1 3 -50 37.0 71.0
153 154 24 O+3 ¢4 200 53.0 55.0( 88 91 3¢ S-1 & -100 520 56.0( 13 14 44 N-1 v2 -50 37.0 71.0
49 52 44 N-4 #4 -400 46.0 62.0( 89 82 3¢ S-1 vJ -100 520 56.0( 22 28 3¢ S-1 &A -50 37.0 71.0
10 12 44 O= 97 -620 33.0 750| 30 23 24 V= +5 -110 410 67.0( 24 27 4#N-1 ¢Q -50 37.0 71.0
21 26 44 O= ¢Q -620 33.0 750| 90 92 2¢v O= +A -110 410 67.0( 50 56 44 S-1 v7 -50 37.0 71.0
22 28 44 O= &2 -620 33.0 75.0(105 104 24 O= +A -110 410 67.0( 61 66 44 N-1 ¥5 -50 37.0 710
25 29 44 O= v4 -620 33.0 75.0(149 142 24 O= ¢A -110 410 67.0( 65 64 3¢ S-1 vJ -50 37.0 71.0
50 56 44 O= ¢8 -620 33.0 75.0| 10 12 24 O+1 +¢A -140 330 75.0( 68 71 44 N-1 T -50 37.0 71.0
67 63 44 O= &5 -620 33.0 750 21 26 14 O+2 +A -140 33.0 750| 73 74 44 N-1 v5 -50 37.0 710
87 83 44 O= &2 -620 33.0 750| 47 43 34 O= ¢A -140 33.0 75.0(107 103 44 N-1 ¥5 -50 37.0 71.0
105 104 44 O= ¢Q -620 33.0 75.0(147 143 34 O= ¢A -140 330 75.0(108 111 3&# N-1 ¥5 -50 37.0 71.0
121 126 44 O= v7 -620 33.0 75.0 9 2 340+1 <A -170 23.0 85.0|113 114 3« N-1 v5 -50 37.0 710
127 123 44 O= ¢Q -620 33.0 750| 41 46 24 O+2 &2 -170  23.0 85.0(121 126 3¢ S-1 &A -50 37.0 71.0
147 143 44 O= v7 -620 33.0 750| 54 55 24 O+2 ¢A -170 230 85.0(133 134 44 N-1 ¥5 -50 37.0 71.0
149 142 44 O= ¢Q -620 33.0 750| 81 86 24 O+2 <A -170 23.0 85.0|148 151 44 N-1 v5 -50 37.0 710
13 14 44 O+1 v7 -650 10.0 98.0| 87 83 24 O+2 K -170 230 850 21 26 4#N-2 ¢Q -100 16.0 92.0
24 27 44 O+1 ¢Q -650 10.0 98.0|121 126 24 O+2 +¢A -170 230 85.0( 32 31 3NS-2 A -100 16.0 92.0
30 23 44 O+1 +¢8 -650 10.0 98.0 7 3 4¢S-2 9] -200 11.0 97.0( 51 53 3NS-2 A -100  16.0 92.0
65 64 44 O+1 w7 -650 10.0 98.0( 48 42 2vy N-2 ¢4 200 110 97.0| 67 63 3&#N-2 ¥2 -100 16.0 92.0
8l 86 44 O+1 w7 -650 10.0 98.0(101 106 3¢ S-2 vJ 200 11.0 97.0(125 124 3NS-2 &A -100  16.0 92.0
85 84 44 O+1 w7 -650 10.0 98.0|109 102 2v N-2 %9 -200  11.0 97.0| 87 83 2v V= 4Q -110 10.0 98.0
88 91 44 O+1 w7 -650 10.0 98.0(141 146 2vy N-2 ¢4 200 110 97.0| 41 46 5#N-3 ¢Q -150 6.0 102.0
110 112 44 O+1 7 -650 10.0 98.0(145 144 3vy N-2 ¢4 200 110 97.0| 85 84 54N-3 v6 -150 6.0 102.0
129 122 44 O+1 ¢4 -650 10.0 98.0 5 4 3vyN-3 &A -300 3.0 105.0| 89 82 3NN-3 ¥5 -150 6.0 102.0
133 134 44 O+1 v4 -650 10.0 98.0( 69 62 2NS-3 &3 -300 3.0 105.0 149 142 54 N-4 5 -200 2.0 106.0
145 144 44 O+1 w7 -650 10.0 98.0( 93 94 5¢ S-4 vJ -400 0.0 108.0 (110 112 54D N-2 ¥5 -300 0.0 108.0
150 - 66.4 150 - 66.4 150 - 66.4
7 4109 8 & DKn53 9 4108
Syd v Kn96 Vast v 98643 Nord vD10875
Alla 4 Kn9863 Ingen + E87 ov ¢ KKn3
#Kn86 10 #Kn64
« KD8 4 E6 486 4942 & EKn & KD643
v K1072 vD83 v KKn2 vE75 v EKKNn63 v942
* K2 + E107 4942 + KKn6 +D10742 +6
&#EKD9 #75432 &#Kn7642 #E983 &7 #D1083
& Kn75432 « EK107 #9752
vE54 vD10 v-
¢+ D54 ¢+ D1053 + E985
&10 &#KD5 S»EK952
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
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62 67 66 V-3 T 300 108.0 0.0| 10 3 44 N= &8 420 1060 20| 6 5 4vyDV-3 #4 800 108.0 0.0
2 7 64V-2 &T 200 106.0 2.0| 69 72 4vy N= &3 420 106.0 2.0| 48 43 4vyDV-2 ¢3 500 105.0 3.0
8l 84 4v V-1 «T 100 102.0 6.0(141 144 44 S= &2 420 106.0 20| 51 56 4v V-5 &4 500 105.0 3.0
121 124 4y V-1 T 100 102.0 6.0|121 124 3NS= &4 400 1020 6.0| 22 27 2y V-4 4T 400 100.0 8.0
122 127 6NV-1 ¢3 100 1020 6.0| 55 49 34 S+1 &2 170 100.0 8.0| 62 67 4v V-4 &T 400 100.0 8.0
48 43 34V +3 &T -170  98.0 100| 1 4 34S= #J 140 88.0 20.0| 74 68 4v V-4 &J 400 100.0 8.0
69 72 2NV +4 o7 -240 96.0 120 21 32 24 S+1 #J 140 88.0 20.0| 25 28 2¢ V-3 &4 300 91.0 17.0
51 56 4v V= &T -620 940 14.0| 22 27 24 S+1 #J 140 88.0 20.0| 50 53 4v V-3 ¢3 300 91.0 17.0
25 28 3NV+1 ¢3 -630 87.0 21.0| 50 53 24 S+1 #2 140 88.0 200 69 72 4v V-3 &4 300 91.0 17.0
31 30 3NV+1 3 -630 87.0 21.0| 61 64 3vS= 48 140 88.0 20.0|110 103 4y V-3 #J 300 91.0 17.0
42 47 3NV +1 +6 -630 87.0 21.0(101 104 34 S= #2 140 88.0 20.0|126 125 4y V-3 ¢3 300 91.0 17.0
52 54 3NV+1 48 -630 87.0 21.0(102 107 34 S= #J 140 88.0 20.0(131 133 4v V-3 48 300 91.0 17.0
111 113 3NV +1 3 -630 87.0 21.0(111 113 24 S+1 &6 140 88.0 200| 1 4 4vyDV-1 #4 200 75.0 33.0
134 128 3NV +1 ¢3 -630 87.0 21.0(130 123 34 S= #2 140 88.0 20.0| 10 3 4v V-2 &T 200 75.0 33.0
82 87 4v V+1 &T -650 79.0 29.0(150 143 2v S+1 48 140 88.0 200| 14 8 3vy V-2 &4 200 75.0 33.0
151 153 4v O+1 &T -650 79.0 29.0 (154 148 24 S+1 #2 140 88.0 20.0| 52 54 4v V-2 48 200 75.0 33.0
6 5 3NV+2 3 -660 59.0 490 6 5 2y N= 42 110 71.0 37.0| 61 64 4v V-2 &J 200 75.0 33.0
9 12 3NV+2 3 -660 59.0 49.0| 11 13 2vS= 46 110 710 370 81 84 4v V-2 &4 200 75.0 33.0
21 32 3NV+2 3 -660 59.0 49.0( 14 8 24 S= &#J 110 71.0 37.0| 82 87 4v V-2 #4 200 75.0 33.0
22 27 3NV+2 +¢8 -660 59.0 49.0| 70 63 2vy S= 46 110 71.0 37.0| 90 83 4v V-2 &J 200 75.0 33.0
23 29 3NV+2 3 -660 59.0 49.0(106 105 2v S= 2 110 710 370 94 88 4v V-2 &4 200 75.0 33.0
46 45 3NO+2 43 -660 59.0 49.0(142 147 2v S= #2 110 71.0 37.0|146 145 4y V-2 4T 200 75.0 33.0
66 65 3NV+2 43 -660 59.0 49.0| 23 29 3#40-2 4A 100 61.0 47.0| 9 12 4v V-1 &4 100 51.0 57.0
70 63 3NO+2 o7 -660 59.0 49.0| 52 54 3#0-2 &A 100 610 470 21 32 4v V-1 #J 100 51.0 57.0
71 73 3NO+2 45 -660 59.0 49.0| 62 67 3#0-2 &4A 100 61.0 47.0| 23 29 4vy V-1 #4 100 51.0 57.0
74 68 3NV+2 ¢8 -660 59.0 49.0(109 112 34 0O-2 &4A 100 61.0 47.0| 26 24 2y V-1 «T 100 51.0 57.0
89 92 3NV+2 ¢3 -660 59.0 49.0 (151 153 INS= 46 90 56.0 52.0| 42 47 4v V-1 48 100 51.0 57.0
94 88 3NV+2 ¢3 -660 59.0 49.0( 46 45 24 0-1 4A 50 50.0 58.0| 55 49 3vy V-1 «4 100 51.0 57.0
101 104 3NV +2 ¢3 -660 59.0 49.0| 71 73 24 0-1 4A 50 50.0 58.0| 66 65 3vy V-1 «T 100 51.0 57.0
102 107 3NV +2 +8 -660 59.0 490 74 68 3#0-1 4A 50 50.0 58.0(101 104 3v V-1 #4 100 51.0 57.0
109 112 3NV +2 ¢3 -660 59.0 49.0(114 108 2N O-1 4A 50 50.0 58.0|102 107 3v V-1 #4 100 51.0 57.0
110 103 3NV +2 ¢3 -660 59.0 49.0(126 125 24 O-1 &K 50 50.0 58.0|106 105 4v V-1 &J 100 51.0 57.0
131 133 3NV +2 &7 -660 59.0 490| 2 7 44S-1 &2 -50 340 74.0(109 112 3v V-1 #4 100 51.0 57.0
142 147 3NV +2 ¢3 -660 59.0 490 26 24 3NS-1 &J -50 340 74.0|111 113 3v V-1 4 100 51.0 57.0
1 4 3NV+3 3 -690 20.0 880 31 30 34S-1 &J -50 340 74.0|142 147 4y V-1 #4 100 51.0 57.0
10 3 3NV+3 v6 -690 20.0 88.0| 48 43 44 S-1 v2 -50 340 74.0(154 148 4v V-1 ¢3 100 51.0 57.0
11 13 3NV +3 43 -690 20.0 88.0| 51 56 2v S-1 &2 -50 340 740| 46 45 INN= 3 90 36.0 72.0
14 8 3NV+3 2 -690 20.0 88.0| 82 87 2v S-1 8 -50 34.0 74.0|122 127 2¢ S-1 YA -50 33.0 75.0
26 24 3NV+3 ¢3 -690 20.0 88.0| 89 92 2NS-1 &2 -50 340 74.0(129 132 34 S-1 ¥vA -50 33.0 75.0
41 44 3NV +3 3 -690 20.0 88.0( 90 83 44 N-1 &A 50 340 740| 11 13 1v V= &4 -80 29.0 79.0
50 53 3NV+3 ¢3 -690 20.0 880 94 88 2vS-1 &J 50 340 740| 91 93 1vy V= &J -80 29.0 79.0
55 49 3NV+3 ¢8 -690 20.0 88.0(129 132 2v S-1 &J -50 340 74.0| 89 92 3#S-2 vA -100 26.0 82.0
61 64 3NV+3 oT -690 20.0 88.0(134 128 3NS-1 &2 50 340 740| 2 7 2vyV= 4] -110 19.0 89.0
86 85 3NV+3 ¢3 -690 20.0 880 41 44 24 0= &7 90 20.0 88.0| 41 44 2y V= ¢3 -110 19.0 89.0
90 83 3NV+3 3 -690 20.0 88.0( 42 47 24 0= 4A 90 200 88.0| 70 63 24 O= &A -110 19.0 89.0
91 93 3NV+3 ¢9 -690 20.0 880 66 65 24 O0= &K 90 200 880 71 73 2vV= &4 -110 19.0 89.0
106 105 3NV +3 ¢3 -690 20.0 88.0| 9 12 44 S-2 &2 -100  12.0 96.0 (114 108 1y V+1 &4 -110 19.0 89.0
114 108 3NV +3 ¢3 -690 20.0 88.0| 25 28 44 S-2 &6 -100  12.0 96.0 (130 123 24 O= «K -110 19.0 89.0
126 125 3NV +3 ¢3 -690 20.0 88.0| 86 85 3NS-2 &2 -100 120 96.0| 31 30 2v V+1 &4 -140 8.0 100.0
129 132 3NV +3 +¢3 -690 20.0 88.0| 91 93 44 S-2 46 -100 12.0 96.0| 86 85 2v V+1 &J -140 8.0 100.0
130 123 3NV +3 +¢38 -690 20.0 88.0(110 103 3v N-2 #A 100 12.0 96.0 (121 124 3y V= T -140 8.0 100.0
141 144 3NV +3 ¢3 -690 20.0 88.0(146 145 2y V= &2 -110 6.0 102.0 (134 128 2v V+1 4T -140 8.0 100.0
146 145 3NV +3 +¢8 -690 20.0 88.0| 81 84 4v S-3 &7 -150 2.0 106.0 (151 153 3v V= &4 -140 8.0 100.0
150 143 3NV +3 +¢6 -690 20.0 88.0|122 127 3NS-3 &2 -150 2.0 106.0 (141 144 54S-4 ©vA -200 2.0 106.0
154 148 3NV +3 +¢8 -690 20.0 88.0(131 133 4y N-3 48 -150 2.0 106.0 (150 143 4vDV= &J] -790 0.0 108.0
149 - 36.8 149 - 36.8 149 - 36.8
10  KKn52 11 « K97 12 &« K7432
Ost v DKn8 Syd vD94 Vast v4
Alla ¢ DKn10 Ingen ¢ E75 NS ¢ KKn3
21074 #EKD10 &EK43
4E106 4D943 4654 4 ED1083 4 E9 4 Kn1085
vE1053 vK742 vEKn1085 vK v E965 v KKn108
4983 4765 ¢ K83 + D64 + D10 + 987
#KKn3 &E2 #Kn8 #7543 #Kn10985 «D7
487 4 Kn2 4 D6
v 96 v 7632 vD732
¢ EK42 ¢ Kn1092 ¢ E6542
#D9865 #0962 *62
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 5 4vV-3 ¢Q 300 1070 10| 62 65 INS+3 43 180 1070 1.0| 51 54 2NN+2 T 180 108.0 0.0
130 133 4v V-3 ¢Q 300 107.0 1.0|132 134 INN+3 43 180 1070 1.0| 30 29 24 N+2 45 170 104.0 4.0
24 32 3y V-2 +Q 200 1000 80| 2 5 INN+2 43 150 103.0 5.0 43 41 24 N+2 &7 170 1040 4.0
71 64 2vV-2 ¢Q 200 100.0 8.0|131 124 INN+2 43 150 103.0 5.0|147 146 24 N+2 T 170 104.0 4.0
87 86 3vV-2 42 200 1000 80| 7 6 2NN= 43 120 92.0 16.0| 21 31 14 N+2 T 140 94.0 14.0
131 124 2v V-2 +Q 200 1000 80| 21 31 INN+1 43 120 920 16.0| 23 28 24 N+1 ¢9 140 94.0 14.0
148 149 3v V-2 +Q 200 100.0 8.0| 47 46 INN+1 43 120 92.0 16.0| 47 46 34 N= ¢9 140 94.0 14.0
22 26 2vV-1 +Q 100 85.0 23.0| 67 66 2NN= 43 120 92.0 16.0| 67 66 24 N+1 #Q 140 94.0 14.0
48 44 2v V-1 +Q 100 85.0 23.0| 72 74 INS+1 48 120 920 16.0| 91 84 14 N+2 #Q 140 94.0 14.0
52 56 2¢vV-1 ¢Q 100 85.0 23.0| 82 85 INN+1 48 120 92.0 16.0| 92 94 1a N+2 #Q 140 94.0 14.0
53 55 2vV-1 ¢Q 100 85.0 23.0| 91 84 INN+1 43 120 92.0 16.0|108 109 14 N+2 vJ 140 94.0 14.0
62 65 2v V-1 ¢Q 100 85.0 23.0|123 121 INN+1 4 120 92.0 16.0| 83 81 INS+1 #J 120 85.0 23.0
63 61 3vV-1 ¢Q 100 85.0 23.0(148 149 INN+1 T 120 92.0 16.0|150 153 INS+1 #J 120 85.0 23.0
88 89 2vV-1 ¢Q 100 85.0 23.0| 22 26 INN= 43 90 79.0 29.0| 12 14 2¢ S+1 v6 110 71.0 37.0
108 109 3v V-1 ¢Q 100 85.0 23.0| 43 41 INN= 43 90 79.0 29.0| 27 25 2¢ S+1 #J 110 71.0 37.0
111 104 3v O-1 +¢A 100 85.0 23.0|110 113 INN= ¢4 90 79.0 29.0| 48 44 24 N= T 110 71.0 37.0
112 114 3v V-1 +Q 100 85.0 23.0|150 153 14 N+1 K 90 79.0 29.0| 68 69 24 N= ¢9 110 71.0 37.0
3 1 Pass 73.0 35.0| 12 14 14N= K 70 740 340| 82 85 24 N= vJ 110 71.0 37.0
27 25 Pass 73.0 350| 3 1 2¢vV-1 A 50 64.0 44.0| 88 89 24 N= a5 110 71.0 37.0
30 29 INS-1 ¥5 -100 70.0 380 8 9 2vV-1 &A 50 64.0 44.0(102 105 14 N+1 #Q 110 71.0 37.0
7 6 2vyV= ¢Q -110 370 71.0| 10 13 34 O-1 ¥3 50 64.0 44.0|123 121 2¢ S+1 ¥5 110 710 37.0
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8 9 2vV= +Q -110 370 710( 11 4 34 0-1 &9 50 64.0 44.0(128 129 3¢ S= &J 110 71.0 37.0
10 13 2v 0= ¢A -110 370 710( 23 28 2v V-1 #A 50 64.0 44.0(132 134 24 N= vJ 110 71.0 37.0
11 4 2v V= +Q -110 370 71.0( 24 32 2vy O-1 &A 50 64.0 44.0(143 141 24 N= &Q 110 71.0 37.0
12 14 2v V= +Q -110 370 71.0( 30 29 INV-1 &A 50 64.0 44.0(151 144 14 N+1 #Q 110 71.0 37.0
21 31 2v V= a2 -110 370 71.0(130 133 2v V-1 &A 50 64.0 44.0 2 5 2vyV-2 &A 100 58.0 50.0
23 28 2v V= a2 -110 370 71.0(151 144 INV-1 &A 50 640 440 22 26 INS= &5 90 51.0 57.0
42 45 1y O+1 +A -110 370 71.0( 49 50 INN-1 3 -50 44,0 64.0| 52 56 2¢ S= s A 90 51.0 57.0
43 41 2y V= +Q -110 370 71.0| 53 55 2NN-1 3 -50 44.0 64.0| 87 86 2¢ S= v5 90 51.0 57.0
47 46 2v V= a2 -110 370 71.0( 63 61 INN-1 T 50 44.0 64.0[103 101 2¢ S= &J 90 51.0 57.0
49 50 2v V= +Q -110 370 71.0| 87 86 2NN-1 &3 -50 44.0 64.0|127 126 INS= &J 90 51.0 57.0
51 54 2vV-= +Q -110 370 71.0( 88 89 2NN-1 T -50 44.0 64.0|131 124 2¢ S= v5 90 51.0 57.0
67 66 2v O= +¢A -110 370 71.0( 90 93 3NN-1 3 50 44.0 64.0(112 114 1e N= &Q 80 440 64.0
68 69 1v O+1 +A -110 370 71.0( 92 94 INN-1 3 50 440 640 24 32 24V-1 v4 50 41.0 67.0
70 73 2v V= +Q -110 370 71.0(108 109 2NN-1 ¥K 50 44,0 64.0| 90 93 24 O-1 ¥2 50 41.0 67.0
72 74 2v V= a2 -110 370 71.0(111 104 INN-1 3 50 44.0 64.0| 10 13 INS-1 &J -100 28.0 80.0
82 85 2v V= +Q -110 370 71.0(127 126 1&#N-1 ¢K 50 44.0 64.0| 42 45 24 N-1 +¢9 -100 28.0 80.0
83 81 2v V= a2 -110 370 71.0(128 129 2NN-1 3 -50 44.0 64.0| 53 55 3¢ S-1 ¥5 -100 28.0 80.0
90 93 2v V= +Q -110 370 71.0( 51 54 2NN-2 T -100 28.0 80.0| 63 61 34 N-1 #Q -100 28.0 80.0
91 84 2v V= a5 -110 370 71.0(103 101 3&#N-2 ¥vA -100 280 80.0f 70 73 34 N-1 ¢38 -100 28.0 80.0
92 94 2v V= +Q -110 370 71.0(112 114 2¢ S-2 &) -100 280 80.0( 71 64 24 N-1 +v38 -100 28.0 80.0

102 105 2v V= +Q -110 37.0 71.0(142 145 INN-2 38 -100 28.0 80.0|107 106 3# N-1 &J -100 28.0 80.0
103 101 2v V= +Q -110  37.0 71.0|143 141 3y S-2 46 -100 28.0 80.0(110 113 3NN-1 «T -100 28.0 80.0
107 106 2v V= a5 -110  37.0 710 42 45 24 O= 49 -110 18.0 90.0 (111 104 24 N-1 &Q -100 28.0 80.0
110 113 2v V= +Q -110 370 71.0| 71 64 14 O+1 49 -110 18.0 90.0(122 125 44 N-1 T -100 28.0 80.0
122 125 29y 0= +Q -110 37.0 71.0| 83 81 14 O+1 &9 -110 18.0 90.0(148 149 44 N-1 9 -100 28.0 80.0
123 121 2y V= a5 -110  37.0 71.0(102 105 24 O= %9 -110 18.0 90.0| 62 65 2v V= &A -110 16.0 92.0
128 129 2v V= +Q -110 37.0 71.0(107 106 24 O= &2 -110 18.0 90.0|142 145 INO+1 Q -120 140 94.0
132 134 2y V= +Q -110 370 71.0( 52 56 24 O+1 ¢J -140 9.0 99.0 7 6 2NS-2 &J -200  11.0 97.0
147 146 2v V= a5 -110 370 71.0| 68 69 1a V+2 49 -140 9.0 990 11 4 2y N-2 #Q -200  11.0 97.0
150 153 2v V= +Q -110 370 710( 70 73 24 O+1 ¢J -140 9.0 99.0 3 1 2NS-3 &5 -300 5.0 103.0
151 144 2y V= +Q -110  37.0 71.0(122 125 24 O+1 ¢J -140 9.0 99.0 8 9 2NS-3 ¢5 -300 5.0 103.0
127 126 2y V+1 +Q -140 3.0 105.0| 48 44 34 O+1 w7 -170 40 104.0( 49 50 3NS-3 &J -300 5.0 103.0
142 145 2v O+1 +A -140 3.0 105.0 ({147 146 3NS-4 ¥5 -200 2.0 106.0| 72 74 3NN-3 T -300 5.0 103.0
143 141 3NN-3 vK -300 0.0 108.0( 27 25 24DO= ¢J -470 0.0 108.0 ({130 133 3NN-5 «T -500 0.0 108.0
- 154 38.0 - 154 38.0 - 154 38.0
13 a42 14 « K96 15 « D832
Nord v 9862 Ost v E1098 Syd v EK864
Alla ¢ 87654 Ingen ¢+ E54 NS +8
&E8 &#EKNn3 &D96
4 K863 & DKn7 4Knl07 &53 4104 & EKKn765
vED5 vKnl1l073 vyKKn2 vD43 v9 v Kn5
41093 ¢ KKn2 49832 ¢ KD106 + KD97632 ¢ E4
#1072 &Kn43 K95 &D1072 &Kn74 &E103
« E1095 & ED842 49
vK4 v 765 vD10732
¢ ED ¢ Kn7 + Kn105
&#KD965 864 #K852
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 10 3NS+1 T 630 108.0 00| 53 56 3NN+1 ¢6 430 108.0 00| 13 8 54DO-2 v2 300 108.0 0.0
132 125 14 V-2 &A 200 106.0 2.0|141 147 44 S= v2 420 106.0 20| 83 86 3NO-4 v2 200 106.0 2.0
12 5 14S+4 v5 150 99.0 9.0| 41 47 3NN= +6 400 100.0 8.0| 41 47 44 O-3 +5 150 103.0 5.0
13 8 INS+2 43 150 99.0 9.0| 81 87 3NN= +6 400 100.0 8.0|132 125 44 O-3 ¢J 150 103.0 5.0
25 26 1aS+4 vA 150 99.0 9.0 91 94 3NN= +6 400 100.0 8.0|150 149 3v N= oA 140 100.0 8.0
63 66 INS+2 &6 150 99.0 9.0|121 127 3NN= +K 400 100.0 8.0 4 2 44 0-2 +5 100 93.0 15.0
121 127 INS+2 &3 150 99.0 9.0|129 130 3NN= &7 400 100.0 8.0| 53 56 44 O-2 2 100 93.0 15.0
150 149 24 S+3 &6 150 99.0 9.0| 25 26 2NN+2 ¢K 180 940 140 71 74 34 0-2 +J 100 93.0 15.0
73 68 14 S+2 v5 140 90.0 180 30 21 24 N+2 ¢6 170 92.0 16.0| 89 90 5¢ V-2 vA 100 93.0 15.0
81 87 1a S+2 &2 140 90.0 18.0 9 10 INN+2 &7 150 89.0 19.0(101 107 44 O-2 v2 100 93.0 15.0
143 146 14 S+2 v5 140 90.0 18.0| 89 90 2NN+1 T 150 89.0 19.0(109 110 5¢ V-2 vA 100 93.0 15.0
23 27 1#S+3 «3 130 75.0 33.0 4 2 24 N+1 3 140 73.0 350 29 28 34 O-1 v2 50 76.0 32.0
41 47 24 S+2 T 130 75.0 330 12 5 24 N+1 ¢K 140 73.0 350 43 46 34 O-1 &5 50 76.0 32.0
53 56 1#S+3 v5 130 75.0 33.0| 23 27 24 N+1 &7 140 730 350 48 45 34 0-1 2 50 76.0 32.0
83 86 1#S+3 43 130 75.0 33.0| 29 28 24 N+1 6 140 73.0 35.0| 61 67 34 O-1 %6 50 76.0 32.0
89 90 14S+3 T 130 75.0 33.0| 44 42 24 N+1 &7 140 73.0 35.0(111 114 34 O-1 2 50 76.0 32.0
92 85 1#S+3 &6 130 75.0 33.0| 61 67 24 N+1 ¢K 140 73.0 350113 108 34 O-1 +¢J 50 76.0 32.0
103 106 1 S+3 3 130 75.0 330 73 68 24 N+1 T 140 73.0 35.0|121 127 5¢ V-1 vA 50 76.0 32.0
109 110 14 S+3 T 130 75.0 330 83 86 24 N+1 ¢K 140 73.0 35.0(124 122 44 O-1 7 50 76.0 32.0
124 122 34 S+1 v5 130 75.0 33.0| 92 85 24 N+1 ¢K 140 73.0 35.0(143 146 44 O-1 vQ 50 76.0 32.0
129 130 14 S+3 ¥5 130 75.0 33.0(103 106 24 N+1 K 140 73.0 35.0|144 142 34 O-1 2 50 76.0 32.0
151 154 14 S+3 &6 130 75.0 33.0(124 122 24 N+1 ¢K 140 73.0 35.0(151 154 44 O-1 2 50 76.0 32.0
153 148 14 S+3 T 130 75.0 33.0(143 146 24 N+1 T 140 730 350 31 24 24 O= v7 -110 62.0 46.0

4 2 14S+2 ¥5 110 49.0 59.0(150 149 24 N+1 ¢K 140 730 350(| 63 66 24 O= v2 -110 62.0 46.0
29 28 1aS+2 46 110 49.0 59.0(151 154 3v S= &7 140 73.0 35.0(104 102 24 O= v7 -110 62.0 46.0
43 46 14 S+1 T 110 49.0 59.0| 22 32 INN+1 ¢K 120 58.0 50.0 3 6 340= v7 -140 49.0 59.0
50 51 1#S+2 5 110 49.0 59.0 1 7 1laS+1 2 110 470 610 12 5 24 O+1 &5 -140 49.0 59.0
61 67 1#S+2 T 110 49.0 59.0 3 6 24 N= +K 110 470 610| 22 32 34 0= ¥3 -140 49.0 59.0
69 70 14S+2 &6 110 49.0 59.0| 43 46 24 N= +K 110 47.0 610| 44 42 34 0= v2 -140 49.0 59.0
71 74 1 S+2 ¢T 110 49.0 59.0| 64 62 24 S= +2 110 470 61.0| 52 55 34 0= v2 -140 49.0 59.0
72 65 1aS+2 46 110 49.0 59.0| 72 65 24 N= +K 110 47.0 61.0| 69 70 24 O+1 &5 -140 49.0 59.0

101 107 14 S+2 T 110 49.0 59.0(101 107 24 N= +K 110 47.0 610| 72 65 34 O= ¥3 -140 49.0 59.0
104 102 24 S= +T 110 49.0 59.0(104 102 24 N= +K 110 470 61.0| 92 85 34 0= v2 -140 49.0 59.0
111 114 14 S+2 ¥5 110 49.0 59.0(111 114 24 N= +T 110 47.0 61.0|133 128 34 O= v2 -140 49.0 59.0
113 108 1 S+2 &3 110 49.0 59.0(112 105 24 N= +K 110 47.0 61.0|153 148 34 O= v2 -140 49.0 59.0
141 147 14 S+2 &6 110 49.0 59.0(123 126 24 N= +K 110 470 61.0| 54 49 34 O+1 &2 -170 35.0 73.0
144 142 14 S+2 &2 110 49.0 59.0( 13 8 44 N-1 ¢K 50 270 81.0| 73 68 34 O+1 49 -170 350 73.0

3 6 2v0-1 &K 100 340 740| 50 51 3NN-1 T -50 27.0 81.0| 84 82 34 O+1 #2 -170 350 73.0
22 32 1S+l 3 90 23.0 85.0| 54 49 3NN-1 K 50 27.0 81.0| 91 94 3«4 V+1 ¢Q -170 35.0 73.0
44 42 14 S+1 o7 90 23.0 850 63 66 24 N-1 K -50 27.0 81.0 9 10 34 O+2 v2 -200 27.0 81.0
52 55 1S+l 46 90 23.0 850 69 70 44 N-1 K 50 27.0 81.0| 11 14 34 O+2 #2 -200 27.0 81.0
54 49 184 S+1 43 90 23.0 850 84 82 24 N-1 +K -50 27.0 81.0| 25 26 34 O+2 #7 -200 27.0 81.0
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64 62 1S+l 43 90 230 850 93 88 3NN-1 &7 -50 270 81.0| 81 87 34 0+2 v2 -200  27.0 81.0
84 82 14S+1 T 90 23.0 85.0(113 108 N-1 ¢K -50 27.0 81.0| 93 88 5¢ V= vA -400 21.0 87.0
91 94 1aS+1 T 90 23.0 85.0|133 128 N-1 K -50 27.0 81.0|103 106 5¢ V= vA -400 21.0 87.0
112 105 14 S+1 T 90 23.0 85.0 (144 142 N-1 ¢K -50 27.0 81.0 1 7 464 0= v2 -420  12.0 96.0
123 126 14 S+1 46 90 230 850 11 14 N-2 oK -100 9.0 99.0( 50 51 44 O= v7 -420  12.0 96.0
131 134 14 S+1 ¥5 90 23.0 85.0| 31 24 N-2 K -100 9.0 990| 64 62 44 O= vQ -420 120 96.0
1 7 14S= 43 70 11.0 97.0| 52 55 S-2 49 -100 9.0 99.0(112 105 5¢ V+1 vA -420  12.0 96.0
133 128 14 S=  v5 70 11.0 97.0| 71 74 N-2 oK -100 9.0 99.0(123 126 44 O= v7 -420  12.0 96.0
31 24 1la V= &A -80 7.0 101.0 (109 110 N-2 K -100 9.0 99.0(129 130 5¢ V+1 vA -420 12.0 96.0
48 45 1la V= #A -80 7.0 101.0 (131 134 N-2 oK -100 9.0 99.0(141 147 44 O= +¢5 -420  12.0 96.0
30 21 5#S-1 v5 -100 3.0 105.0|132 125 N-2 oK -100 9.0 99.0| 23 27 44 O+1 ¥2 -450 3.0 105.0
93 88 2vS-1 ¢3 -100 3.0 105.0 (153 148 N-2 &7 -100 9.0 99.0(131 134 44 O+1 ¥2 -450 3.0 105.0
11 14 34 S-2 ¥5 -200 0.0 108.0| 48 45 N-3 ¢K -150 0.0 108.0| 30 21 44DO+1 v7 -690 0.0 108.0
- 145 69.0 - 145 69.0 - 145 69.0
16 « KD10 17 108764 18 484
Vast v Kn1075 Nord v Kn94 Ost v7
oV ¢ Kn3 Ingen * K2 NS ¢ Kn107
7632 &K73 #EKN96532
a7 & Kn42 # EDKn «KKn5 & ED962
vKD9862 v4 v 10763 vDKn84 v9653
+10872 ¢ EKD95 + DKn8 + E964 + K863 ¢ D54
+K10 #Kn854 #DKn109 #42 K4 *7
# E98653 « K5 #1073
vE3 v EK2 v EK102
¢ 64 ¢ 10753 ¢ E92
#ED9 #E865 «D108
Par Kontr Ut Res Poang Par Ut Res Poang Par Kontr Ut Res Poang
73 66 44 S= vK 420 1080 0.0 93 86 ¢A 140 108.0 0.0| 8 83 3NS+4 ¢3 720 108.0 0.0
28 27 3y V-2 &K 200 1050 3.0 12 8 9 120 106.0 20| 13 6 3NS+2 ¥8 660 106.0 2.0
142 141 3v V-2 &K 200 1050 30| 4 7 &4 110 1040 40| 72 68 5#S+1 v4 620 1040 4.0
4 7 24S+2 92 170 1000 80| 31 22 «Q 90 96.0 12.0|144 147 INN+4 ¢4 210 1020 6.0
64 67 34 S+1 vK 170 100.0 8.0 55 50 = ¢8 90 96.0 12.0| 93 86 3¢ V-4 &A 200 100.0 8.0
150 151 34 S+1 2 170 100.0 8.0| 70 71 S= +Q 90 96.0 12.0| 64 67 2NS+2 45 180 98.0 10.0
2 1 34S= +8 140 830 250 82 81 2#S= +Q 90 96.0 120| 73 66 3« N+2 &7 150 940 14.0
21 29 34 S= ¢7 140 830 250 84 87 24S= 49 90 96.0 12.0|104 107 44 S+1 vQ 150 94.0 14.0
23 26 24 S+1 vK 140 83.0 25.0(114 109 INS= +8 90 96.0 12.0(153 146 34 S+2 ¢4 150 94.0 14.0
45 43 24 S+1 vK 140 83.0 25.0(150 151 INS= #Q 90 96.0 120| 5 3 24N+2 ¢4 130 88.0 20.0
51 52 24 S+1 vK 140 83.0 25.0| 42 41 1a N= +¢6 80 85.0 23.0| 32 25 3#N+1 ¢4 130 88.0 20.0
70 71 24 S+1 vK 140 83.0 25.0| 51 52 1a N= &2 80 85.0 23.0(133 126 2# N+2 ¢4 130 88.0 20.0
92 88 24 S+1 vK 140 83.0 25.0(105 103 14 N= +¢6 80 85.0 23.0| 24 30 INN+1 42 120 79.0 29.0
102 101 24 S+1 vK 140 83.0 25.0(134 129 14 N= v6 80 85.0 23.0(102 101 INN+1 42 120 79.0 29.0
104 107 34 S= ¢T 140 83.0 25.0| 54 56 1y O-1 &5 50 80.0 28.0(132 128 INN+1 42 120 79.0 29.0
105 103 24 S+1 vK 140 83.0 25.0| 21 29 Pass 78.0 30.0(134 129 INN+1 42 120 79.0 29.0
113 106 34 S= vK 140 830 250 2 1 3#S-1 ¥5 -50 60.0 48.0|142 141 INN+1 42 120 79.0 29.0
114 109 24 S+1 vK 140 83.0 25.0| 13 6 24 S-1 £Q -50 60.0 48.0(154 149 INN+1 49 120 79.0 29.0
133 126 24 S+1 vK 140 830 250 14 9 24S-1 +Q -50 60.0 48.0(110 111 3« N= ¢4 110 71.0 37.0
145 143 24 S+1 vK 140 830 250 23 26 2#S-1 +¢Q -50 60.0 48.0(145 143 3#S= ¢6 110 71.0 37.0
14 9 14 S+1 vK 110 63.0 450 44 47 24 S-1 +¢Q -50 60.0 48.0| 53 49 3¢ V-2 v7 100 65.0 43.0
62 61 24 S= vK 110 63.0 450 53 49 34S-1 v5 -50 600 480 62 61 34 O-2 vA 100 65.0 43.0
85 83 24 S= vK 110 63.0 450 65 63 INS-1 £Q -50 60.0 48.0(105 103 44 O-2 #Q 100 65.0 43.0
110 111 2¢ S+1 vK 110 63.0 450| 73 66 3#S-1 5 -50 60.0 48.0(112 108 2¢ V-2 v7 100 65.0 43.0
125 123 24 S= vK 110 63.0 450 92 88 INS-1 5 -50 60.0 48.0| 10 11 INN= &9 90 56.0 52.0
153 146 24 S= vK 110 63.0 450 94 89 24#S-1 ¢ -50 60.0 48.0| 12 8 INN= &2 90 56.0 52.0
13 6 4¢ 0O-1 «A 100 53.0 55.0|104 107 INS-1 £Q 50 60.0 48.0| 23 26 2#S= a5 90 56.0 52.0
42 41 2v V-1 &K 100 53.0 55.0(113 106 INS-1 #Q -50 60.0 48.0| 31 22 INN= 46 90 56.0 52.0
112 108 3¢ O-1 &A 100 53.0 55.0(122 121 INS-1 #Q -50 600 48.0| 70 71 24 N= ¢3 90 56.0 52.0
132 128 3¢ O-1 vA 100 53.0 55.0(125 123 INS-1 +¢Q 50 600 48.0| 74 69 1vy S= 46 80 50.0 58.0
10 11 44 S-1 ¥9 -50 350 73.0(130 131 24 N-1 &4 -50 60.0 48.0| 45 43 34 O-1 £Q 50 45.0 63.0
12 8 44 S-1 vK -50 35.0 73.0|142 141 INS-1 +8 -50 60.0 48.0| 65 63 24 O-1 ©vA 50 45.0 63.0
24 30 34S-1 ¥9 -50 35.0 73.0|145 143 INS-1 #Q -50 60.0 48.0|114 109 44 O-1 2 50 45.0 63.0
31 22 34 S-1 T -50 350 73.0| 48 46 1vO= ¢5 -80 420 66.0(125 123 34 O-1 ¥vA 50 45.0 63.0
48 46 34 S-1 7 50 350 73.0| 90 91 24V=  ¢8 -90 400 68.0| 94 89 2¢ V= &2 -90 40.0 68.0
53 49 34 S-1 vK -50 350 73.0| 10 11 INS-2 &Q -100 240 840| 14 9 5&4N-1 &A -100  27.0 81.0
54 56 34 S-1 +¢2 50 350 73.0| 24 30 INS-2 #Q -100 240 840| 21 29 5&4N-1 &A -100  27.0 81.0
55 50 34 S-1 +¢2 -50 350 73.0| 28 27 24 S-2 &Q -100 240 84.0( 42 41 1lv S-1 #4 -100  27.0 81.0
72 68 34 S-1 ¢2 -50 350 73.0( 32 25 INS-2 &Q -100 240 840| 48 46 INN-1 a2 -100  27.0 81.0
74 69 44 S-1 v6 -50 350 73.0| 45 43 2¢ S-2 v5 -100 24.0 84.0| 51 52 INN-1 a2 -100  27.0 81.0
84 87 24 S-1 ¢2 -50 350 73.0| 62 61 INS-2 #Q -100 240 84.0| 55 50 5 N-1 &7 -100  27.0 81.0
122 121 24 S-1 3 -50 350 73.0( 64 67 INS-2 ¢Q -100 240 840| 82 81 INN-1 a2 -100  27.0 81.0
144 147 44 S-1 vK -50 350 73.0| 72 68 INN-2 v6 -100 24.0 84.0| 84 87 2¢ S-1 3 -100  27.0 81.0
154 149 44 S-1 9 -50 350 73.0( 8 83 INS-2 &Q -100 240 84.0(113 106 INN-1 2 -100  27.0 81.0
5 3 34S5-2 2 -100  18.0 90.0(102 101 INS-2 #Q -100 24.0 84.0|122 121 INN-1 42 -100  27.0 81.0
65 63 44 S-2 vK -100 18.0 90.0|110 111 3#S-2 ¥5 -100 24.0 84.0(124 127 INN-1 2 -100  27.0 81.0
130 131 44 S-2 vK -100  18.0 90.0 (112 108 INS-2 #Q -100 24.0 84.0|130 131 44 N-1 ¢4 -100 27.0 81.0
82 81 3¢ O= ¥vA -110  13.0 95.0|124 127 INS-2 &9 -100 240 840 4 7 240= ©vA -110  12.0 96.0
90 91 2¢v V= &K -110  13.0 95.0|144 147 INS-2 9 -100 240 84.0( 90 91 14 O+1 vA -110  12.0 96.0
44 47 3¢ O+1 43 -130 7.0 101.0 (153 146 INS-2 ¢Q -100 24.0 84.0| 92 88 24 O= YA -110  12.0 96.0
93 86 3¢ O+1 43 -130 7.0 1010 5 3 3NS-3 ¥5 -150 5.0 103.0 (150 151 34 O= YA -140 8.0 100.0
94 89 3¢ O+1 vA -130 7.0 101.0| 74 69 2NN-3 6 -150 5.0 103.0| 44 47 1vy S-2 3 -200 5.0 103.0
124 127 3¢ O+1 ©vA -130 7.0 101.0 (132 128 INS-3 #Q -150 5.0 103.0| 54 56 5&# N-2 ¢3 -200 5.0 103.0
32 25 3v V= &K -140 2.0 106.0 (154 149 INS-3 #Q -150 5.0 103.0| 28 27 2NS-4 5 -400 2.0 106.0
134 129 4¢ O+1 43 -150 0.0 108.0|133 126 2« S-4 #Q -200 0.0 1080 2 1 5#4DN-2 vQ -500 0.0 108.0
- 148 58.2 - 148 58.2 - 148 58.2
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Syd
ov

4 K8

vE762

+ ED96

#Kn103
aKn54 410972
vDKn9 #8543
¢ Knl05 ¢ 8732

&#K542 &D

4« ED63

v K10

+K4

#E9876
Kontr Ut Res
6N S = &2 990
BNN+3 47 490
BNN+3 &7 490
3BNN+3 ¢3 490
3NN+3 43 490
BNN+3 &7 490
BNN+3 42 490
3NN+3 43 490
3BNN+3 T 490
BNN+3 43 490
BNN+3 48 490
3NS+3 vQ 490
3NS+3 ¢J 490
3NS+3 &4 490
3BNN+3 T 490
BNN+3 43 490
3NN+3 v4 490
BNN+3 ¢3 490
3BNN+3 ¢5 490
BNN+3 42 490
ABNN+3 ¢3 490
BNN+2 42 460
3NN+2 v3 460
3NS+2 vQ 460
BNN+2 48 460
3NN+2 v8 460
3NN+2 42 460
3ANS+2 vQ 460
3NN+2 46 460
3NS+2 &4 460
3BNN+2 ¢3 460
3NN+2 &7 460
3BNN+2 3 460
3BNN+2 ¥4 460
3NS+2 v9 460
3ANS+2 5 460
3BNN+2 48 460
3NS+2 &2 460
3NS+2 &4 460
BNN+2 «T 460
3NN+1 v4 430
3NN+1 v4 430
3NS+1 &5 430
BNN+1 42 430
3ANS+1 5 430
3BNN+1 ¢3 430
3NN+1 v4 430
3NN+1 v4 430
3NS+1 &4 430
3NS= vQ 400
3NN = «T 400
56 S= +J 400
INN+3 &7 180
3#S+3 v9 170
2 S+4 vQ 170

Poang

108.0
87.0
87.0
87.0
87.0
87.0
87.0
87.0
87.0
87.0
87.0
87.0
87.0
87.0
87.0
87.0
87.0
87.0
87.0
87.0
87.0
48.0
48.0
48.0
48.0
48.0
48.0
48.0
48.0
48.0
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Vast
Alla

141
112

« Kn854

vK3

+ ED10742

&6
4 D72 41093
vKn107542 vES8
+3 +K
#D32 #EKn108754

» EK6

v D96

+ Kn9865

K9
Kontr Ut Res Poang
64D O -4 oA 1100 108.0 0.0
54D O-3 4A 800 106.0 2.0
5¢DS= vJ 750 103.0 5.0
5¢DN= vA 750 103.0 5.0
3NS+2 #Q 660 100.0 8.0
5¢ N= vA 600 89.0 19.0
3NS= vJ 600 89.0 19.0
5¢ N= &A 600 89.0 19.0
5¢ S= vA 600 89.0 19.0
5¢ N= #A 600 89.0 19.0
5¢ N= vA 600 89.0 19.0
5¢ N= vA 600 89.0 19.0
5¢ N= vA 600 89.0 19.0
5¢ N= &A 600 89.0 19.0
3NS = «Q 600 89.0 19.0
64 O-4 &A 400 78.0 30.0
54 0-3 «4A 300 76.0 32.0
3¢ S+2 v4 150 66.0 42.0
2¢ N+3 3 150 66.0 42.0
4¢ N+1 &A 150 66.0 42.0
4¢ N+1 &A 150 66.0 42.0
4¢ S+1 vJ 150 66.0 42.0
3¢ N+2 &A 150 66.0 42.0
3¢ N+2 vA 150 66.0 42.0
4¢ N+1 &A 150 66.0 42.0
3¢ N+2 vA 150 66.0 42.0
4¢ N= vA 130 48.0 60.0
3¢ S+1 #Q 130 48.0 60.0
4¢ N= vA 130 48.0 60.0
3¢ N+1 &A 130 48.0 60.0
3¢ N+1 &A 130 48.0 60.0
3¢ N+1 «T 130 48.0 60.0
4¢ N= vA 130 48.0 60.0
3¢ S+1 &2 130 48.0 60.0
4¢ N= #A 130 48.0 60.0
3#0-1 +J 100 36.0 72.0
3#0-1 +J 100 36.0 72.0
3#0-1 «A 100 36.0 72.0
5¢ N-1 +8 -100 18.0 90.0
5¢ N-1 vA -100  18.0 90.0
5¢ N-1 #A -100  18.0 90.0
5¢ N-1 vA -100 18.0 90.0
5¢ N-1 vA -100  18.0 90.0
5¢ N-1 &A -100  18.0 90.0
5¢ S-1 #Q -100 18.0 90.0
5¢ N-1 vA -100  18.0 90.0
3NS-1 #Q -100  18.0 90.0
5¢ N-1 &#A -100 18.0 90.0
5¢ N-1 vA -100  18.0 90.0
5¢ N-1 vA -100  18.0 90.0
5¢ N-1 &A -100 18.0 90.0
5¢ N-1 #A -100  18.0 90.0
5¢ N-1 &A -100  18.0 90.0
5¢ N-2 &A -200 1.0 107.0
5¢ S-2 &2 -200 1.0 107.0

59.6

21
Nord
NS

66
151

«106

v 10875

¢ 943

#Kn1032
« KD & 75432
v9 v KD632
¢ EKDKNn10 46
&#KD875 #96

& EKNn98

v EKn4

#8752

&E4
Kontr Ut Res
3NV-2 «T 100
38V-1 oT 50
BNV-1 o7 50
3aV-1 T 50
38V-1 oT 50
3¢ V-1 & 50
3aV-1 T 50
BNV-1 T 50
38 V-1 T 50
3¢ V-1 46 50
5¢ O-1 &4 50
2¢ V-1 & 50
BNV-1 T 50
3¢ V-1 T 50
3NV-1 T 50
3aV-1 T 50
3¢ V-1 T 50
3NV-1 &6 50
2¢ V= T -90
2¢ V= 46 -90
2¢ V= T -90
2¢ V= 46 -90
2¢ V= 46 -90
2¢ V= T -90
2¢ V= T -90
26 V= T -90
28 V= oT -90
2¢ V= T -90
2¢ V= T -90
2¢ V= 46 -90
3¢ V= T -110
386 V= +3 -110
3¢ V= oT -110
206 V+1 &) -110
3¢ V= T -110
2¢ V+1 o7 -110
2¢ V+1 &2 -110
2¢ V+1 &2 -110
3¢ V= oT -110
26 V+1  ¢9 -110
26 V+1 o7 -110
3¢ V= oT -110
2NV = 46 -120
2¢ V+2 T -130
2¢ V+2 & -130
3¢ V+1 & -130
2¢ V+2 T -130
3¢ V+1 T -130
26 V+2 T -130
26 V+2 46 -130
2¢ V+2 o7 -130
2¢ V+2 46 -130
2¢ V+3 T -150
3NV = +9 -400
ABNO+1 9 -430

Poang

108.0
90.0
90.0
90.0
90.0
90.0
90.0
90.0
90.0
90.0
90.0
90.0
90.0
90.0
90.0
90.0
90.0
90.0
61.0
61.0
61.0
61.0
61.0
61.0
61.0
61.0
61.0
61.0
61.0
61.0
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